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23+ 1320.0 (117%) 550. 0 3 HEKEC: 1895.0, PH: 6.2

FEREHER 2 STEAEARSF (66.0 : 50.0), AIREAMT—@E XAFH5
ZXIA K FREBRE50. 0 ml.

large discrepency for begining water status (172:96.0), set to 150.0 ml
BE[EIKRECE (2105. 0 vs 2995.0) R
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-15
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11:25 120 50.0 i Rige11:25 (KRBAERE)
12:25 120 50.0 i BRig@12:25 (kPB{EREEE)
13:30 120 50.0 5 BRi%@13:30 (kAfEREE)
14:45 120 50.0 |Z= Big014:45 (REERSE)
16:20 120 50.0 |Z= B1%016:20 (KRFERE)
231+11080.0 (9%) 450.0 323 KEC: 1900.0, PH: 6.0

EER € (120. 0) 5748 (109. 0) R FF

ZRIASLRRIERES5. 0 ml.

1 [ERECE (2145. 0 vs 2800.0) RS
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